Algebra 1 (CP) Name K E\{

Final Exam Review #2 (Chapters 9-10) Date

EXTRA CREDIT - Must clearly show work. Get correct answers.
2 HW grades for odds and 2 HW grades for evens.
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Sketch the graph of each function. Clearly mark 5 points. Label the axis of symmetry, vertex,
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Solve Quadratic Function by graphing. Sketch the graph of each function. Clearly mark 5
points. Determine solutions by marking with an X" or stating ""No Solation.”
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Solve each equation with the quadratic formula. Round soultions to 2 decimals.
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CHAPTER 10. Name each polynomial by degree and number of terms.
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Find each product Write in standard form.
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Find each product Write in standard form.
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